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L 10FUT >

B & £ il FE KK B FH 50m
VR N i Sz -3EE:E /N5 1/ 3 1:17.45 37.36 9%k ( 0.57)
2 /NI HE 24 1/ 60 1:22.22 39.47 8k ( 0.51)
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B K 4 T B FE KK B A 50m
1 ik #hith Sz -3EE:E 1 3/ 6 1:04. 40 30.63  11#8% ( 0.50)
2 iy =R BHES S /N6 2/ 5 1:07.93 33.28 9k ( 0.53)
3 i L2 MG eEsRSCr /6 2/ 2 1:10.18 34.02 8k ( 0.62)
4 gR AR BiES S NG 1/ 4 1:10. 47 33.85  8#%k ( 0.55)
5 R JH 4 EES C 1 2/3  1:10.48 33.98 8%k ( 0.60)
6 A HEMETIR K L&EHH N6 2/ 6 1:12.32 35.20 Tk ( 0.67)
T HA B SZ S /N5 1/5 1:16.73 37.06 Tk ( 0.49)
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B K 4 il FHE K B o0m
1 findl fk M EESRSCR 2 3/ 2 1:03.15 30.75 9%k ( 0.50)
2 #RIR; A4} B N 2 3/ 7  1:04.03 314 9%k ( 0.49)
3 MR R B — KSR 2 3/ 3 1:04. 24 30.88  8f% ( 0.54)
4 T P anRPE 1 2/ 4 1:06. 67 32.06 8% ( 0.55)
5 BREFHEARER A/ 3R B H 1 3/ 1 1:07. 08 32.86  8#k ( 0.54)
6 M el S S C&AE 2 3/ 8 1:08. 23 32.82 Tk ( 0.63)
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IEhL K 4 B FE KB K M o0m
1 JoE HIES S =) 4/ 4 57.(86) 27.95 9%k ( 0.53)
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2 WLz Bl =3 4/ 6 1:00. 52 29.40 8%k ( 0.56)
3 FF B =2 4/ 3 1:00.73 28.70 9% ( 0.51)
4 BEE EH] I = 4/ 1 1:00. 96 29.61 8%k ( 0.58)
S WP BpE &3 4/ 5 1:01. 14 28.93 8% ( 0.53)
6 gnA  S5L BHES S =) 4/ 2 1:03.72 30.60  T#k ( 0.55)
T RH AR BES S H3 4/ 8 1:03. 80 30.72  T#k ( 0.53)
8 HH ik HITHASS E2 3/ 5 1:03. 86 30.52 7k ( 0.55)
9 RE pAK =4 = 3/ 4 1:05. 01 31.15  7#k ( 0.53)
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